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5. The velocity-time graph of an object is shown below. Figure out the total distance
traveled by the object. Show your work.

Distance = g meters.
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7. The ohject is moving away from

the origin at a steady (constant) y
wlocity. ;E 10 E:III Timeizac)
2. The objectiz standing still. +
& 10 20 Timelses)

4 The object moves toward the
arigin at a steady (constant 1
welocity for 10 secands, and then &
stands still for 10 seconds. '

og  Timelzed)

10. The ohject moves away from the

\’—,jl:l
origin at a steady (constant) + (

welacity for 10 secands, reverses
direction and moves back toward a

the origin atthe same speed for | 1 2n  Timel(sec)
10 geconds. _
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